ITI Electrician 1st Year Module 5 Batteries and Solar cells

(1). What is the type of fuse? | Wl P I UPR W%?

(A) Knife edge cartridge fuse | <l ‘éﬂ?ﬁﬁiﬁ QJ
(B) High rupturing capacity fuse | B'I_ECTEIﬁ"T @t@\_ﬂ
(C) Ferrule contact cartridge fuse | WWW

(D) Diazed screw type cartridge fus@ﬂ%ﬁwmw
Correct Answer : B .,\\'

QO
(2). Why separate wiriggw\recommended for home theatre wiring and power

wiring? | 819 fiuex 3R UTaR IR o T 3renT IR &1 R
] B oIl 27

(A) Avoid electrical fire | fooTelt &1 31T <@
(B) Reduce power loss | gfed Gllil DH DhAl
(C) Avoid electrical interference | fooTett & AfdHo 4 9

(D) Maintain voltage level constant | dlecol TR RR SEILY 3

Correct Answer : C



(3). Which type of lamp holder is used for the lamps above 300 watts? | 300 dIC

U JWR & oY & oY fhd THR & 00 YRS BT SUANT {1 STl g2
(A) Edison screw holder | Tf&H &b glee

(B) Goliath screw holder | TTY Ud BlcaR

(C) Angle holder | 10T gt

(D) Brachet holder | ¢ BT

Correct Answer : B

(4). What is the purpose of the flexible cords in domestlb%rmg? | ﬂiﬁ?‘l’l’\ﬁﬁ
Tl TRl BT R IS 82 Q

(A) Concealed wiring | Taiford aranT
(B) Permanent connection | pRlip

(C) Run cable through holes in ce|I ﬁ%%mm@r%aaam

(D) Connection transportable as ces | CI{-IHICGIQ“I SUBUN HaH

Correct Answer : D s

(5). What is the symbol indicates? | H’G’WW EQIiﬂI %?

Q0

(A) Table fan Iflv?fti@

(B) Ceiling fan | ©d I U@l
(C) Bracket fan | Sohe Ul
(D) Exhaust fan |ﬁWti@T



Correct Answer : B

(6). Which electrical accessory belongs to general classification of accessories?

o faega grrh, g & g aiifeor @ geifia g2
(A) Fuse | QST

(B) Ceiling roses | Tl ST

(C) Intermediate switch | SeHITeUe Rag

(D) Pendent lamp holder | L a'q S\I('SQ

Correct Answer : B \
QQ/

(7). What protection offered by residual curren@it breaker? | &laﬁnzr YRT
WWWWQ?&HWﬁW%?Q

(A) Protection from shock | W.@

(B) Protection from over load | 3@,&?@@&”

(C) Protection from short ci f?@qﬂ:{ Rl

(D) Protection from Ie@ current | NIESS W@ﬁT&ﬂ

Correct Answer : A

(8). What is the function of circuit breaker? | Hﬁf)d STH B Oblif R %?
(A) Making contact at normal condition | g RUfS & Gueh B
(B) Making contact at abnormal condition | AT fRufa & Tudh AT

(C) Breaking automatically at abnormal condition | T fRufa A g=fera
=0 Y dreHl




(D) Physical breaking contact at abnormal condition | T fufa & Wifas
¥ Y UP arel

Correct Answer : C

(9). Why ELCB fails to trip during operation? | ELCB 3TI-H &b E:RI:I ﬁ;quf
fawma =i Xgar g2

(A) Improper earth connection | &Iﬂﬁlﬂﬁ-w

(B) Improper neutral connection | &ﬂﬁlﬂdcw HaR

(C) Improper phase connection | &Iﬂ’[%l?[ b Ob-TIdQI-I&
(D) Improper fuse rating | &Iﬂﬁlﬂmﬁilé‘l QQJ

Correct Answer : A \

10). What is the purpose of the circu am in wiring installation? | GIRIRY
SR H aRkay &ni@ws%s&

(A) To show the physical pos@ ®f accessories | i Bl %@ﬁﬁ@ﬁ
o fere

(B) To estimate the va?&s accessories in the circuit | gfthe A fafts amaft &1
3 A o forg

(C) To inform the reader quickly what for the circuit is designed | UTod Ca \ﬂcﬂc'd

T gford 3 & foru fob wiche faafere fewire fvar man g

(D) To show the schematic connection of the circuit for a specific task | fooa

fafdy &1 & fore afdhe &1 gioHTeg Fae fem & fau

Correct Answer : D




(11). Where the phase conductor is looped in looping system of wiring? | GIRRLl

& U Ried T ol 8 dex &I gl AT SIIdT 872
(A) Switch box | Tad i

(B) Junction box | NEREESIE
(C) Distribution box | fad=ur afag
(D) Socket connection | Tid ¢ Tl

Correct Answer : D

(12). What does the symbol marked ‘X’ indicate? | 1;IH'&Q@?«F&’'X’EI:ElT EQIi(_‘II %?
250 | £ 800 Q
l N\
800
x\ >

L~ o~
TR ~T 3 | 460

L]

i
¥

/‘/ ~1

~

(A) Number of wires run§on the limb | foid R dRI &1 S=m
(B) Number of switches to be connected | Prac g4 o forg Rag &1 T
(C) Number of battern (or) pipe to be fixed | S (g mﬁmaﬁm

(D) Number of clamps (or) clips to be fixed | FAT (40 oy &t T 99 Bl

Correct Answer : A



(13). What is the name of the relay? | ﬁﬁﬁ:ﬂﬂ?ﬂT%?

(A) Impulse relay | 3TaTT e
(B) Dryreedrelay | @éﬂgﬁ@f

(C) Electromagnetic relay | Iradﬂd ﬂ*dd‘)nlq e

(D) Mercury wetted contact relay | UIRI Tfielr Tudh ﬂ%’},

Correct Answer : B

(14). What is maximum load on each po - circuit as per BIS? | BIS &
IR U UTeR J&-Hfhe TR R ERJT%?
(A) 2000 W ’\\'

(B) 3000 W $$ )
(C) 5000 W $

(D) 6000 W

Correct Answer : B

(15). Which is used as a filler material for fixing screw hole on ceiling? | TifeiT |

T B D¢ HRA o R Uard & &9 H fordast SUdT foar ST g2
(A) Paper | DTS
(B) Nylon | ATIAA
(C) Cement | TiHC



(D) Poly vinyl chloride | OTcH fa8d FRISS

Correct Answer : B

(16). What is the length of thread on rigid conduits as per BIS? | BIS & SR

HOR B IR IS P Adlg H1 87

(A) 9mm - 20mm

(B) 11mm-27mm
(C) 13mm -25mm

(D) 15mm - 30mm
\
Q

Correct Answer : B Q

(17). What is the tool used to bend conduit@?ﬁﬁ@%mm
JUHRT T SUART {1 ST 52 @
Q

(A) Hickey | fgat s\\'
N\

(B) Coupler | U @’

(C) Pipe vice | UIgU

(D) Bench vice | CE]

Correct Answer : A

(18). What is the full form of BIS? | BIS &1 YUl &U §
(A) Board of Indian Standard

(B) Bureau of Indian Standard

(C) Board of International Standard

(D) Bureau of International Standard



Correct Answer : B

(19). Which types of accessories are used to operate a portable appliance? |

UIdad SUBRUT b TTeld B P fold fobg YpR &b M BT IUANT fohar ST
?

(A) Safety accessories | ﬁ?&ﬂ%ﬂ'ﬂqﬁ
(B) Holding accessories | WWW
(C) Outlet accessories | ffa g

(D) Controlling accessories | IBEELEIEIC]

Correct Answer : C QQ’}’

\"
(20). What is the purpose of tin coating on @use wire? | SIEED RSl IR UR
RAPRTHTRI I 8 @

(A) Withstand high temperaturg

(B) Increase the fusing factor g {lUIiOb | q@

(C) Prevent oxidation of rwire | did & dR &1 SHIRNH0T AH1
(D) Increase the mechanical strength | aﬁwsﬁ%ﬁq@

Correct Answer : C

(21). Which type of circuit breaker is used above 100 A current rating? | fbg

TRTY HoTeh BT ITANT 100 A YRT IRV HUR fobar ST g2
(A) Miniature Circuit Breaker (MCB) | ﬁlﬁ?ﬂ?ﬂ%w
(B) Earth Leakage Circuit Breaker (ELCB) | 31 oot Afdhe gabe

(C) Moulded Case Circuit Breaker (MCCB) | e s &Y Hﬁf)d STh




(D) Residual Current Circuit Breaker (RCCB) | IR YR Ffhe Sh

Correct Answer : C

(22). Which wiring is suitable for temporary installations? | SR YISl &b
forT &1 It a1 Suged g2

(A) Cleat wiring | dlc AR

(B) Concealed wiring | ®dlcs drIRTT

(C) PVC conduit wiring | YTdI el dRI

(D) Metal conduit wiring | YT HeIC AT Q,}’

Correct Answer : A \.Q
Q
(23). How the conduit pipes are specified%@ﬂ?mﬁﬁﬁgmm%?
(A) Length in metre | ?IWI_SC, rﬂa-er:\‘
(B) Wall thickness in mm | . 3 ,ﬁﬂ:ﬁﬁ
(C) Inner diameter in mm oMy, |
(D) Outer diameter inﬁ$| dlg] oMY, e A

Correct Answer : D

(24). What is the use of die stock set? | EQWQ?WWWT%?
(A) Cut external threads on square pipe | Wqﬁqf{ dlel S Pl

(B) Cutinternal threads on cylindrical pipe | Wtﬂgqtl? 3aR® ¥s
CAGI

(C) Cut external threads on cylindrical pipe | éwmgtrw dlel S PHlcl



(D) Cutinternal threads on rectangular pipe | 3TIdIhR YIS UR 3aR® U8
hIcHl

Correct Answer : C

(25). Which type insulation tape is used for wiring? | W%WWWW
AT <U SUART fordT ST 82

(A) Rubber tape | I8 U
(B) Friction tape | gyuT ¢y

(C) PVC tape | PVC U X_
(D) Varnished cambric tape | =T Hiteies U QQJ

Correct Answer : C *

(26). What is the name of the accessog’*ed in electrical appliances? | ﬁ?{ﬂﬁ

SUBRUN T W T &bl 1

(A) 2 Pin plug | 2 TO9 @1

(B) Three pin plug | o foq &

(C) Iron connector with direct entry | @QW%W?‘[@EW
(D) Flat connector with side entry | T YA & I IUC Ao

Correct Answer : C



(27). Which is the application of DC series MCB? | DC %Fﬂ MCB @[ &HCI'Cn"T

DHAG?

(A) AC motor | THI Al

(B) DC motor | ST Al
(C) Locomotives | Tl IAICd

(D) Air conditioners | dIdlJddd

Correct Answer : C

(28). What is the megger reading in a dead short wn@g{stallanon? | étc:?fg

AR SRCTAR & TR -1 U V8T 82

(A) OMQ | 0 MW @
(B) 1MQ | 1 MW ~\:b

(C) 500 MQ | 500 MW
(D) Infinity

Correct Answer : A : $$



(29). What is the name of the wiring? | awﬁwqum%?
e

[

(A) Staircase wiring | Tlgl araf¥a X
(B) Godown wiring | TTard arafa QQJ
(C) Hostel wiring | BIRCd AR &\'Q
(D) Tunnel wiring | R ARATAT 'b®

Al

Correct Answer : A . ;\\'
»
(30). What is the current ing capacity of 32 amp.rated cable, if it is protected
by the rewirable fuse? ICE HId Bl YRTdgd &meqﬁgﬂ
T: AR Sio- I Tl 3 GRI&d foham T g1
(A) 13 Amp
(B) 16 Amp
(C) 26 Amp
(D) 39 Amp

Correct Answer : C



(31). What is the type of relay? | ﬁﬁﬁWW%’-’

o o

(A) Impulse relay | 3T e
(B) Dry reed relay | @éﬂgﬁ@f é}’
(C) Latching relay | St e &\‘.
(D) Electromagnetic relay | faqu ty-dd’):g@
Correct Answer : D
&
(32). Which protection ELCB aNdes? | ELCB I Tt JR&T UG Rl g2

(A) Short circuit | e

(B) Ground fault | T3S Blec
(C) Opencircuit | 3 gfdhe
(D) Over load | AR ArS

Correct Answer : B

(33). What is the term for the time taken by a fuse to interrupt the circuit in fault?

| & Wfdhe &I S1fd HRA & e v g foram 7o 9y a1 82
(A) Time factor | W‘IUW



(B) Fusing factor | WW
(C) Cut-off factor | T 3t TUTTh
(D) Fusing current | ERI%I"TW

Correct Answer : C

(34). Which is employed in circuit breaker for over load protection? | MR AS

ReM & forg wfhe s H fordepT SUTnT foa STt 82

(A) Bimetallic strip | fgeTq gt

(B) No volt coil | PIs dlee P& ol é}’
(C) Mechanical vibration | TifAd HUA

(D) Magnetic repulsion | & T UfHYUT

Correct Answer : A ®

(35). Why the looping-back (loo .i?’&\hethod is preferred in domestic wiring
installation? | *aiqawﬁﬂ . ﬁﬁﬁm—% (@Q)mﬂmﬁm
g?

(A) Easy to identify the §aults | SIS} B} UgE HRAT 3 §
(B) No separate joints are used | ﬁ"sﬁ AT GIS IWWWWW%
(C) More number of tappings can be taken | 3ffed AT H Uit ) oIl bl &

(D) More number of sub-circuits can be made | eﬁ%mﬁt{qﬂ%w
o g d §

Correct Answer : B

(36). What is the purpose of underwriter’s knot for pendent holder connection? |

UST giceR O & ol SRR B 1116 BT IS 1 82



(A) Avoid loose connections | oI gl 9 §a1d
(B) Increase mechanical strength | W‘zﬁ%ﬁq@

(C) Prevent excessive cap cover pressure | 3IfYH HY HaR Ga1d Bl AH]

(D) Reduce the strain from the terminals of accessories | = & el 9
d-1d HH B

Correct Answer : D

(37). Which type of conduit used for gas tight explosive installation? | ﬁﬂ?@?

ﬁmﬁww%%umummwwsgcwmﬁ@mw%?

(A) Flexible conduits | NEIN hSYC Q
(B) Rigid steel conduits | PSR ST h~SYC \'
(C) Rigid non-metallic conduits | FOR GQ@%W
(D) Flexible non-metallic conduits { STYTfdd h~R|C
Correct Answer : B d\\'\
@.
(38). Which electrical Is the coarse excess current protection? | ALK

faqgd IuHI it YRT TRETT B2

(A) Cartridge fuses | BITcol TSI

(B) Rewirable fuses | JT: AR Sie- Y WISl

(C) Miniature Circuit Breaker (MCB) | FAFT=R Afthe §H

(D) High Rupturing Capacity (HRC) Fuses | 8T8 XGITIT & TSI

Correct Answer : B

(39). What is the purpose of ELCB? | ELCB @[ 3%52?1 a:CIT%?



(A) Detects the fault in circuit | GRTY H GIY @IS
(B) Monitors the residual current | 3GUY YRT Bl GG
(C) Protects the equipment from over load | &rﬁrwﬁmﬁﬁv&nwé

(D) Protects from short circuit fault | mgu‘éﬁ“@r SYDRY ﬁﬁ?&nw%

Correct Answer : B

(40). What is the name of BIS symbol? | BIS Ui 1 ATH T %?

Q’}

(A) Lamp | a'q
(B) Two way switch | g%%ﬂ ’\\'QJ

(C) Intermediate switch | 3@%@%3
(D) Multi - position swg

Correct Answer : C

(41). Which type of accessories, does the fuse comes under? | meﬁ

TGRIS & 3fafa emarg?

(A) Controlling accessories | IGEELESILIG
(B) Holding accessories | WWW
(C) Safety accessories | ﬂ?&ﬂ%ﬂmﬁ

(D) Outlet accessories | fefa g



Correct Answer : C

(42). What is the application of the wiring circuit? | IRt gfdbe &1 &IHW"TW
g?

L L,
X s

—QN

o

2

Q.
(A) Two lamps dim operation only,| %&QWW
(B) Two lamps controlled by o é%}ch | W%ﬂmﬁ'ﬂﬁﬁﬁ%ﬂ
(C) Two lamps controlled switches | ﬁéﬂﬁ%ﬁmﬁﬂﬁﬁ

(D) One lamp bright a@vo lamp dim operation | Ud a'q 3\wod aﬁ“\faﬁuﬂ‘c{
LEINE

Correct Answer : D

(43). Where the Iron Clad Double Pole (ICDP) main switch is used? | ICDP H¥&J

e BT IUUNT Bl [T ST /2
(A) Large industrial installations | a%aﬁ?ﬁmwrw
(B) Control main or branch circuits | ¥ 4T T uigy &1 f=om

(C) Single phase domestic installations | U ¢] baY H\Q('J\RI'I'CI:IT



(D) Three phase power circuit installations | T Ut fad TRaY RITAT

Correct Answer : C

(44). How many two way switches with intermediate switch are used to control

one lamp from three different places? | UW%?$WHW§3%?[W
T P <4 STET-S1ET R A A3 e o o SuanT fog o &2

(A) 1

(B) 2

(C) 3

) 4 ™

Correct Answer : B &\}Q

(45). What is the name of wiring metho WWWW%?

N TN

(A) Joint box method | Waﬁﬂﬁfﬁ

(B) Looping back method | W%ﬁﬁ[

(C) Loop in method using 3 plate ceiling rose | 3 e TIfeRT Il &1 IUART Hh
U 5 fafy

(D) Loop in method using 2 plate ceiling rose | 2 e JifeiT ST BT ITTNT Hch
U 5 fafy



Correct Answer : B

(46). What is the fusing factor for high rupturing capacity fuses (HRC)? | HRC W]l
oq T quiieh T 82

(A) 1.0

(B) 1.1

(C) 1.4

(D) 1.7

Correct Answer : B
X
QQ/

(47). What is the name of symbol used in Wirin@t? | WWUﬁW

Uciich T -ITH &1 5
N

&
N\

I
(A) Link | fef® $

(B) Fuse | RIS
(C) Pull switch IEK‘T%?[

(D) Plug and socket | T 3R idhe

Correct Answer : D



(48). Which type of switch is used in the circuit? | WWWWW'J?{
SURT R 82

e
R

(A) One way switch | Td d &g

(B) Two way switch | &1 d f&ag é}v
(C) Intermediate switch | SexHITCIC Rad X,

(D) Multiposition switch | ﬂﬁﬁﬁiﬂ?f@@

Correct Answer : B \\:b
BN
N\
(49). Which type of wiring is rted for workshop lighting? | WW@"T%
fere foog uepR &1 @&mﬁaa"ftﬂ?ﬂé?
(A) Casing capping wiriM® | SR Bt I

(B) Batten wiring | S arafi
(C) PVC conduit wiring | PVC Bh&gC draiRT

(D) Surface metal conduit wiring | NG Hed d)S?z]\d R

Correct Answer : D



(50). What is the type of wiring? | I8 AT BT DI I UPR 52

(A) CTS wiring | CTs It Q’}’
(B) Cleat wiring | Jeite It

(C) PVC conduit wiring | PVC T&'ﬂ@aﬁlﬁ@

(D) PVC casing and capping wiring | F’éﬁ%ﬁ" 3R HthT arafeaT
Correct Answer : B . \
N

@.
N



